c120Mar2615.notebook March 26, 2015

0 110 g 20
| 0 | | O plac e

(%16 [4 —=
Ox@~0 O
[xy~y
RN




c120Mar2615.notebook March 26, 2015

U ‘*‘. \j B Dec
[oteeqs =5 o <
I l I 7|vj'/\/— \ o
LolLFRT = o}
—_— v\ l

o1 +% 90 1
L8 Y 2! \fi/\\ e 5
k_/o':ng \O \ ||O (ﬁ
1) XK’)\ | [ 7

\ /{poo

x/\(\oo



c120Mar2615.notebook

March 26, 2015

Checking by converting to decimal.
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vahse as decimal 14, and tee letter F carses the same valoe as decimal 15, Hexadecimal, ke amy other mumbermg system has the face value of digits and the positional vahse. The possticnal valoe is based on
the powers of 16 since hexadecimal &5 the bass 16 mambering system.

Example: Hexadecmal mamber A359

A 3 L @ facz vahe

163 160 16! 16" positional vale (powers of 16)

4096 56 16 1 resobved positional vahee

Converting hexadecimal to decimal
To comvert hexadecimal to its decimal equivalent, we maliply the face valoe times the positional vahe:

Axlsi= 10 % 4096 = 40960 (note A is equivalent to decimal 10) H
ixlgt= 3x 256= Tok
sxle'= ix 16= 80
9x16t= 9x 1= ]
41817

The equivalent of hexadecimal A339 m decimal is 41817,
Converting decimal to hexadecimal

Mow we will take the decinal member 41817 and comvert it back to hexadecimal To do this, we will follow the seme steps we used in comverting decimal to binary with one change B this time we are
concerned with multiphying by the face vahue (in binary this was not 2 concem because miltiphving by 1 doesn(Ct change amything).

The followmng are the decamal eqanalents for some of the commenly used povwers of 16
16"=1 16! =16 167 = 256 167 = 4096 16% = 65536

The follwmg steps comvert decimal 41817 to hexadecimal

1. Fast we need to find out the highest base of 16 that can be subtracted from our mumber, 41817, Clearly 16 to the dth which is equivalent to 65536 b too big. However, 16 to the 3rd which & equivalent
to 4096 will work. Char next question is how masy 16 to the 3rd s can be subtracted from 41817, Theough trying different caloulatons, we discover that 10 x 4096 or 40960 is the most powers of 16 to
the 3rd that we: can subtract so we place A (the equivalent of 10) in the 16 to the 3rd position.

We subtract 41817 D 40960 = 857
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vahe as decimal 14, and the letter F camies the same vahee as decimal 15 Hexadecimal, Beoe any other mambering system has the face vahe of digits and the positional valoe. The positional vahe is based on
the pawers of 16 since hexadecimal is the base 16 mmbermg system
Example: Hexadecimal mumber A359

A 3 L] 2 face vahe ’ \ 3 5 \
164 167 16! 16"  posstional vale (powers of 16)
—

4096 56 16 1 resobved positional vahe

—— S
Converting hexadecimal to decimal: %
To comvert hexadecimal to its decimal equnalent, we multiphy the face vahee tmes the postional vale: b L
Axl6 = 10 x 40%6 = 40960 (note A is equivalent to decimal 10) L
3xl6l= 3x 2%6= 68 M )L \
Sx16l= 55 l6= 80 L’Oﬂb
9x160= ox 1= ] . \

o
41817 — Jec‘m

The equivalent of hexadecamal A359 in decimal is 41817

Converting decimal to hexadecimal:

Mo we will take the decimal menber 41817 and comvert #t back to hexadecimal To do this, we will follow the same steps we used i convertmng dacimal to binasy with cne change B this time we are
concemed with muiplying by the face value (in binary this was not a concer because multiphing by 1 doesnCt change anything).

The following are the decimal equivalents for some of the commonly wsed powers of 16:

16"=1 16! =16 167 =256 16% = 4096 164 = 65536

The follvwng steps convert decinsal 41817 to hexadecimal

1. First we ned to find out the highest base of 16 that can be subtracted from our mumber, 41817, Clearly 16 to the 4th which is equivalent to 65536 is too big However, 16 to the 3rd which is equivalent
1o 096 will work. Char next question is bow marry 16 to the 3rd s can be subracted from 41817, Through wrymng diferent caleulasions, we discover that 10 x 4096 or 40960 iz the most powess of 16 o
the 3rd that we can subtract 5o we place A (the equivalent of 107 in the 16 to the 3rd position.

We subtract 41217 P 40960 = 837

A -
16° 16 16! 167
4096 156 16 1

2 Now. we have established the firat power of 16 that we can use. We now move over o 16 to the Ind nower which has the eounvalest of 296 and ask how manv tmes can 236 be subtracted from 837, (5



c120Mar2615.notebook March 26, 2015

BTF = 2%
(6
_ »ellb
B 7 F o 10sas =%
Sl e T |

. po |
asb b \S//—W



c120Mar2615.notebook

March 26, 2015

11



c120Mar2615.notebook March 26, 2015

Murnbiering Systems and Com... %

B o pgrocern et Cisl 1 notes rumbsers il

€| [ searh TE + & =

& Mot Visited

e = W >

41817

The equivalent of hexadecimal A359 @ decimal is 41817,
Converting decimal to hexadecimal
Mow we will take the decimal mumber 41817 and comvert it back to hexadecimal. To do this, we will follow the same steps we used in comverting decimal to bmary with oae change P this time we are
concerzed with multiplying by the face vahe (in binary this was net a concem because multpbang by 1 doesaOt change anythmg).
The followmg are the decamal equivalents for some of the commonty used powers of 16:
169=1 16'=16 16% =236 16 = 4006 16% = 63536 H
The followng steps convert decimal 41817 to hexadecimal

1. First we need to Bnd out the highest base of 16 that can be subtracted from our mumsber, 41817, Clearly 16 to the 4th which is equivalent to 65536 & 1o beg. However, 16 1o the 3rd which is equivalem

o 406 will work. Ohir next question is how mamy 16 to the 3rd 5 can be subtracted from 41817, Through trying different calculations, we discover that 10 x 4096 or 40960 is the most powers of 16 o

the 3rd that we can subtract so we place A (the equivalent of 107 i the 16 to the 3rd posstion
We subtract 41817 B 40960 = 857

A — — —
16 16* 18! 16"
4096 256 16 1

2. Mow, we have established the first power of 16 that we can use. We now move over to 16 to the 2nd power which has the equivalent of 256 and ask how many tines can 256 be sobtracted from 857,
Again, we try the calculations and discover 3 2565 (T68) can be subtracted from 857 which means we enter a 3 in the 16 to the 2nd position.
We subtract 857-768 = 89

A 3 _
16* 162 16! 16"
4096 156 16 1
3. Now we have 89 keft. Looking at 16 to the 1st with the equvalent of 16, we ask bow many 165 can be subtracted from 89 The answer is 5 (16 x 5 = 80}, so we place 2 5 in the 16 to the 15t position.
We subtract B9 D 80 = 9
A El 5
16% 162 161 160
4096 136 16 1
4. Now we hve 9 ket There is only the 16 to the (th postion with the equivalent value of 1 1eft. Clearly & we subtract 9 x 1 from 9 we will have () left and that 15 cur goal, so we place 2 2 in the 16 to the
Onh position

12
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x| |DQ search
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“ | ASCIl Table and Description
Try ASCH stands Sar American Standard Code for Interchange T can anly 50 an ASCIl code is the
numeésical representation of a character such as"a" of '@ or an achion of some sot. ASCH was developed a long time ago and now the
'G | noenprinting characters are rarely used for their original purpose. Below is the ASCI character tabile and this ncludes descriptions of the first
ODg e 32 nen-priring characters. ASCIl was actually designed for use with leletypes and sa the descriptions are somewhat abscure. If someone
says they want your CV however in ASCI format, all this means is they want ‘plain’ tesxt with no formatting such as tabs, bold or
AdW‘O rd g undersearing - the raw foemal that any computer can understand. This is usually 0 they can easily imporl the He into their own applications
without issues. Notepad exe creates ASCI Lext, of in MS Weed you can save a fle as Text only’
Find AaChoces [ » ASCH Coda » Hax to ASCH » ASCH Tabls » Einary Code
Customers Do bwlot Char  |Dec He Ot Himl Chr|0ec b Oct Himl Chel Dec by Ot Himil Che
& |-f d 0 0 000 NUL (Eaxll) 32 Z0 040 Zpace| 64 40 100 sfSd; B °
Qualifie L 1001 508 {stact of heading) a3 21 04L 45 AL 101 FES: A a
. I 2 002 BTH (seact of text) 34 32 042 ' 66 42 102 cRE6; B b
Leads. Get 33 003 ETH (end of text) 35 i 57 43 103 ehE7: =
4 4 004 EOT fend of teanswiazion) 36 i S8 44 104 c#bl; D 4
Your 5 5 005 EB] |engquiry) 7 3 58 45 105 £ME0: E =
B & & 006 ACE (schnowledgs) | [ 0 46 106 c#TO: F =3 £
Busginess 7 7 007 BEL {bell) Er) ! 7L 47 107 6#TLE G & 9
§ & 010 BE  (backepace) 40 [ 72 48 110 :lr_'r?g: JIt =] b
9 9 011 TA® (horizontal cab) 41 1 73 45 111 & H (=] i1
on Goegle 10 & 012 LF :I'I. line Cead, new line)| 42 ¥ T4 44 112 eFT4: T |10 GR 152 eFLOE! ]
loda 11 B 013 VT (wertical tab) a3 + 95 4B 113 #T5: K (107 6B 153 <#L0T; K
Y. 12 © 014 FF (WP Corm Ceed, new page)| 44 ' 76 4C 104 c#T6; L [105 60 154 sALO0; 1
13 [ 015 CR  |carcisge securn) 45 | 77 4D 115 &d77: M [109 D 155 £AlD%; m
L] 14 E 016 50 (shaft out) a5 - T8 4K 116 e#TH; W [110 & 156 efL10: 0
15 F 017 51 (shift in) ar I 79 AF 117 s#T9: 0 (111 6F 157 #LlLy o
16 LD 020 D1E {data link escape) 4 0 B0 50 120 <#80; F (112 T0 160 sALlZ; B
17 11 021 DC1 (dewice comceel L) a9 1 8l 51 121 efEl: 0 |113 71 161 &AL13: 9
18 12 022 DCZ (device conteel Z) ] 2 82 52 12z <#S52; T (114 7z 16z &L14; ¢
> 19 13 023 DCY (dewice conteol 3) 5L 3 83 53 123 c#@3: 5 (118 T3 163 cAL1S; 2
20 14 024 D04 {dewice conteol &) 52 4 54 54 124 sh0d; T [116 74 164 sAL16; ©
21 L5 025 WAX (megarive sckrowledge] | 53 H 85 55 125 &FG5; U [117 75 165 &dll7: u
2Z 15 026 5TH (synchrooous idle) 54 3 86 56 126 cFS6; ¥V [118 76 lee cFL18; @
23 17 027 ETH (end of trans. block] | 55 7 87 57 127 c#ET: W [119 77 167 cAL1S; @
24 L8 030 CAN {cancel) 5 o B8 56 130 WA0; X [120 78 170 <AL20; x
25 19 031 BN (end of mediu) 57 g 89 59 131 efE8: ¥ |121 79 171 &dlil: ¥
26 LA 032 50U (substitukte) -] S0 5A 13z <F90; I [1zz TR 17z &l22; =
27 1B 033 E2C (escape) 59 ' 91 BB 133 c#9Ll: [ (123 7B 193 ALzl |
[ 25 LT 034 F5  (file separacor) &0 < 92 5C 134 #92; \ [124 70 174 sh12d; |
29 LD 035 03 [geoup JeparatoE) &1 = 93 50 135 &f?3; ) [1z5 70 175 edl2S: )
30 LE 036 RS (cecord =mepacator) =] » 94 5E 135 cFId; ¢ [128 TE 176 el26; -
31 LF 037 U5 {unit separator) &3 e 95 BF 137 c#95: _ [127 TF 077 c#LETy DEL
Seurce: waw LoskupTables com
[ransferring data frem pagead). googlesyndicationcom...
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The first three digits tell us it is uppercase. The
last 4 digits tell us which one from 1 for A to 26 for
Z
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ASCIl Table and Description
Try’ mmwm&m&mm' farrnation Interchange. Computers can only understand numbers, so an ASCI code is the
il haracier such as s or '@ or an action of some soi. ASCH was developed a long time ago and now the
'G | nun-pﬁnmg :hndmmmlymdhfm—'mwwm Blelow i the ASCH character tabie andum includes descriptions of the first
OOQ e 32 non-printing charactess. ASCI was actually designed for use with teletypes and sa the i obscure. If
says they wanl your CV however in ASCIl foemat, all this mm-nlmmmm&nmmmmcnnlm‘m«
AdWOI‘dS unclerscoring - the raw format that any computer can understand. This is usually £o they can easily impert the e into their own applications
without issues. Notepad exe creates ASCH Lext, or in MS Weed you can save a e as text only’
Find AdChoces [ » ASCI Code » Hex to ASCI » ASCH Table » Binary Coda
Customers Dec bwlol Char  |Dec Hr Oct Himl Che Dec b Oct Himi Chel Dec Hy Oct Himil Che
& |-f d 0 0 000 NUL (mull] 32 20 040 ##3Z: dpace| 64 40 100 ef6d: B 95 &0 140 s#P6:
Qualifie 1 100l 508 (start of heading) 2 21 041 #33; ! 65 41 101 SHE5: A | 57 &1 14l &#97: &
] & & 002 STH (svacy of vext) 34 22 042 <343 " 66 42 102 cW66; D | 58 62 142 #58; b
Leads. Get 3 3 003 ETY {end of texc) 5 23 043 #3854 57 43 103 <#E7: £3 143 a99; ©
4 4 0b4 EOT {end of teanssission) 36 4 044 cHIE; § G844 104 s#SD; D [100 64 )44 slOD; 4
Y{}Ur & 5 005 EN) |encuiry) 37 25 045 «@37: 3 69 45 105 &M59: E |101 &5 145 &dl0L: =
B & & D06 KCE (schnowlsdgs) 30 Z6 045 E#I8: & 70 45 106 cFTO: F |10Z 66 146 efloZ: ©
Businezs 7 7 007 BEL (bell) 39 27 047 #3592 7L 47 107 s#7L: G (103 67 147 a#l03: 9
& & 010 B:  (backepace) 40 ZB 050 eHA0; ( 72 48 110 #7Z; 1 [104 68 M50 sHLO4; B
on GDGQ'E 9 9 011 TAR (horizomtal cabd 41 29 051 eddl: | 73 43 111 &#73: I |lD5 &5 151 &dl05: 1
= 10 A 012 LF (ML line Ffesd, new lipe)| 42 ZR 052 <f42: * T4 44 112 eFT4: T |106 Gk 152 edLDE: ]
Tada 11 B OL3 VT {vertical tab) 43 2B 053 cHa3: + 75 4B 113 s#75: K [107 68 153 #1072 k
Y. 12 € 014 FF (NP Cors feed, new page)| 44 30 054 cfdd; , 76 AC 114 ckT6; L [108 60 154 sdlon; 1
13 D 015 CR (caceiage recurn) 45 ID 055 «@d5; - 77 4D 115 &8T7: M |108 &b 155 £dL0%; m
L) 14 E 016 50 (shaft out] 46 ZE 055 &F48: . T8 4E 116 «#TH; W |110 6 156 «fL10: o
L5 FOLY 51 (shaft in) 47 IF 057 c#aTy / 79 AF 117 <#79: 0 (111 6F 157 sdllly o
16 10 020 T1E {data litk sscape) 48 30 060 &#48; 0 ® |11z 70 160 eplll; p
17 11 021 D01 jdevice concecl L) 49 31 061 edd%; | 0 |113 71 161 &#L13: 9
18 12 022 DC2 (device control 2) 50 32 06z &#50: 2 B (114 72 162 efll4: ©
> 19 13 023 DCY {devics conteol 3) 51 33 063 c#5Ly 3 5 [LLS T3 163 s#L15; @
20 14 024 TC4 (devies contEsl 4) E2 34 064 «F52; 4 T [116 74 164 cfllé; ©
Z1 15 025 WAY (megacive acknowledge| | 53 35 OG5 «#53: § T |117 75 165 &dl17: u
22 16 026 5T (synchronous idle) E4 36 065 £@58! 6 PV |118 T 166 edl1E: ¥
23 17 027 ETH (end of tcens, block) | 55 37 QT <#55; 7 ;W |18 7 167 s#L19; W
24 13 030 CAN (cancel) 56 30 070 #5630 % [1z0 78 170 seizog =
25 19 031 EM  {end of wedius) E7 39 7L «#57: % ¥ |iz1 7e 171 edlil: ¥
26 1A 032 518 (substicute) EB 3k 072 &#58: T |122 Th 172 23 T
27 1B 033 B30 (mmcape) 59 3B 073 c#5S: [ [123 78 193 sprz3p
=] 25 IC 034 F2  (Cile Bepazacor) &0 30 074 <F60; < % o|1z4 TC 174 sRlids |
29 1D 035 0F  (gEouUp SSpAaraTor) E1 3D 075 ##6l: = : 1 |1z5 70 175 edliS: )
\/" 30 1E 036 BT {record sepacator) &2 3E 076 &F6Z: - “ |izs TE 176 edlaE: -
; 31 LF 037 U5 funit sepazator) 63 3F 077 c#E3; 127 7F 177 s#127; DEL
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